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Why dynamic dlocation?
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Properties
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Steady state
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Control distribution

o Roll o Yaw
10 10
10"
=
8
2107
2
o
810°
S
S — Canard wings
10" - = Outboard elevons
== Inboard elevons
s — Rudder 107 4
10 10
10° 10 10° 10° 10° 10
Frequency (rad/sec) Frequency (rad/sec) Frequency (rad/sec)
Simulation results
Roll rate Pitch rate Sideslip
250 30 4
25
200 [ 8
1
150 “ | 2
@ 2 5 | =1
@ Ky >
[o2} [2) 1 [y
élg/ 100 ﬁ 10 . <3 o
1 Q -1---
Q. o 5 |
50 I 1
0
0 -5 -2
-50 -10 -3
0 2 4 6 0 2 4 6 0 2 4 6
Time (s) Time (s) Time (s)




Control surfaces
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